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QUESTION 1

In which type of database are column-organized tables supported?
A. Partitioned databases.

B. DB2 pureScale databases.

C. Databases whose code set is Unicode.

D. Databases whose code set is Non-Unicode.

Correct Answer: A

QUESTION 2

Which scenario does NOT require intraquery parallelism?

A. The execution of the LOAD command against an empty column-organized table.

B. A DML operation that references a populated column-organized table.

C. The execution of the RUNSTATS command against a populated column-organized table.
D. The addition of a primary key constraint to an empty column-organized table.

Correct Answer: D

QUESTION 3

If the DB2_WORKLOAD registry variable has not been set which database manager configuration parameter must be
modified, before a query that accesses a column-organized table can be executed?

A.INTRA_PARALLEL
B. QUERY_HEAP_SZ
C. MAXIMUM DEGREE
D. SHEAPTHRES SHR

Correct Answer: A

QUESTION 4

When the DB2_COMPATIBILITY_VECTOR registry variable is set to ORA, what is the maximum row width size for
database tables?

A. 32 KB
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B. 64 KB

C.1MB
D.2 MB

Correct Answer: B

QUESTION 5

If the DB2_WORKLOAD registry variable is set to ANALYTICS, what value will be assigned to the DFT_DEGREE
database configuration parameter, by default?

A -1
B.1
C.ON
D. ANY

Correct Answer: A
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